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QUESTION 1

What is the charging model for IBM Cloud Object Storage Standard Tier?

A. The charge is based on the size of the Storage Class Standard Tier configuration
B. The charge is calculated based on the amount of data stored and retrieved

C. The charge is calculated only based on the amount of data retrieved

D. The charge is calculated only based on the amount of data stored

Correct Answer: D

QUESTION 2

What does an IBM Cloud Container Registry provide?

A. A collection of multiple zones rules that allow inbound connections to reach the cluster services

B. A collection of multiple regions rules that allow inbound connections to reach the cluster services

C. Multi-tenant, highly available, and scalable private image registry that is hosted and managed by IBM
D. Single-tenant, highly available, and scalable private image registry that is hosted and managed by IBM

Correct Answer: C

QUESTION 3

What is meant by the practice of Continuous Integration?

A. Automating the process that moves software through the software development lifecycle
B. Frequently committing code to prevent significant drift and competing changes

C. Automating data change replication between data sources at short intervals, for example, every 5 minutes via
synchronous or asynchronous methods

D. A technigue in which application logs are constantly tailed and records are forwarded to a central console

Correct Answer: C

QUESTION 4

Which of the following IBM Cloud Paks help to accelerate the build of cloud-native apps by leveraging built-in developer
tools and processes?

A. IBM Cloud Pak for Microservices
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B. IBM Cloud Pak for Developers
C. IBM Cloud Pak for Applications
D. IBM Cloud Pak for Data

Correct Answer: C

QUESTION 5

Which of the following is a compliance program that IBM Cloud supports?
A. AES

B. OSI

C. HIPAA

D. CNSI

Correct Answer: C
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